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1. If  is a surjection defined by 

 then find B.

Watch Video Solution

A = { − 2, − 1, 0, 1, 2} and f :A → B

f(x) = x2 + x + 1

2. Find the domain of the real function 

Watch Video Solution

f(x) = √4x − x2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HzdlugglKs9I
https://dl.doubtnut.com/l/_ydq90lLJAEkD
https://dl.doubtnut.com/l/_qTggDk2pOnxS


3. IF  the find A+A' and AA'.

Watch Video Solution

A = [
2 −4

−5 3
]

4. Find the rank of the matrix 

Watch Video Solution

⎡
⎢
⎣

1 4 −1

2 3 0

0 1 2

⎤
⎥
⎦

5. IF the position vectors of the points A,B,C are

 respectively and 

 then find the value of .

Watch Video Solution

−2 ī + j̄ − k̄ − 4 ī + 2j̄ + 2k̄, 6 ī − 3j̄ − 13k̄

¯̄̄ ¯̄¯AB = λ¯̄̄ ¯̄¯AC λ

6. Find the vector equation of the plane passing through the points

.

Watch Video Solution

ī − 2j̄ + 5k̄, − 5j̄ − k̄, − 3 ī + 5j̄

https://dl.doubtnut.com/l/_qTggDk2pOnxS
https://dl.doubtnut.com/l/_Kd4hcJd12Wg5
https://dl.doubtnut.com/l/_VKu4xsrplCMu
https://dl.doubtnut.com/l/_oEqpDoEGKt75


Watch Video Solution

7. . Find the vector  such that 

form the sides of a triangle.

Watch Video Solution

ā = 2 ī − j̄ + k̄, b̄ = ī − 3j̄ − 5k̄ c̄ ā, b̄&c̄

8. Sketch the graph of sin 2x in the intervals .

Watch Video Solution

(0, π)

9. P.T (i)  

Watch Video Solution

sin2 52 − sin2 22 =
1∘

2
1∘

2

√3 + 1

4√2

sin2 52 − sin2 22 =
1∘

2
1∘

2

√3 + 1

4√2

10. If 

W t h Vid S l ti

sinhx = 3  then show that x = log(3 + √10)

https://dl.doubtnut.com/l/_oEqpDoEGKt75
https://dl.doubtnut.com/l/_AgyhgjIGbbeG
https://dl.doubtnut.com/l/_aYn78UWrzoDc
https://dl.doubtnut.com/l/_WZoKETvBdCHk
https://dl.doubtnut.com/l/_wyLRjnyzkDPT


Watch Video Solution

11. Show that the four points

 are

coplanar, where  are non-coplanar vectors.

Watch Video Solution

− ā + 4b̄ − 3c̄, 3ā + 2b̄ − 5c̄, − 3ā + 8b̄ − 5c̄, − 3ā + 2b̄ + c̄

ā, b̄, c̄

12. IF and  , then find the between 

and .

Watch Video Solution

ā + b̄ + c̄ = 0̄, |ā| = 3∣∣b̄∣∣ = 5 |c̄| = 7 ā

b̄

13. If  are the solutions of the equation 

then show that (i)  (ii) 

Watch Video Solution

α, β

a cos θ + b sin θ = c,  where a, b, c ∈ R and  if a2 + b2 > 0, cosα ≠ cos

sinα + sinβ =
2bc

a2 + b2
sinα. sinβ =

c2 − a2

a2 + b2

https://dl.doubtnut.com/l/_wyLRjnyzkDPT
https://dl.doubtnut.com/l/_8yrVy33awNbu
https://dl.doubtnut.com/l/_g97zv4NIPdgO
https://dl.doubtnut.com/l/_mvW63RjxQcve


14. If  then solve 

Watch Video Solution

0 < x <
π

2
cot2 x − (√3 + 1)cot x + √3 = 0

15. P.T 

Watch Video Solution

tan− 1 + tan− 1 − tan− 1 = 0
1

7

1

13

2

9

16. Prove that 

Watch Video Solution

=
1 + cos(A − B)cosC

1 + cos(A − C)cosB

a2 + b2

a2 + c2

17. If  are two bijective functions then P.T 

Watch Video Solution

f :A → B, g :B → C

(gof)
− 1

= f − 1og− 1

https://dl.doubtnut.com/l/_lJyV9WqA9f9r
https://dl.doubtnut.com/l/_mcpt7IaAW2zK
https://dl.doubtnut.com/l/_F1RIu2yO8tCf
https://dl.doubtnut.com/l/_uprsGn67GWZg


18. Using Mathematical Induction , prove that statement for all  

Watch Video Solution

n ∈ N

(1 + )(1 + )(1 + )....... (1 + ) = (n + 1)23

1

5

4
7
9

2n + 1

n2

19. Solve 

Watch Video Solution

∣
∣
∣
∣

x − 2 2x − 3 3x − 4

x − 4 2x − 9 3x − 16

x − 8 2x − 27 3x − 64

∣
∣

∣
∣

= 0

20. Apply the test of rank to examine whether the equations

 is consistent or

inconsistent and if consistent find the complete solution.

Watch Video Solution

x + y + z = 6, x − y + z = 2, 2x − y + 3z = 9

https://dl.doubtnut.com/l/_UcfMFHGR9m5h
https://dl.doubtnut.com/l/_IdlgJpnboosw
https://dl.doubtnut.com/l/_nJ7wTxOcm3Uo


21. Fo any four vectors  and , prove that 


(i)  and (ii) 

Watch Video Solution

ā, b̄, c̄ d̄

(ā × b̄) × (c̄ × d̄ ) = [̄ ¯̄̄acd̄ ]b̄ − [b̄c̄d̄ ]ā

(ā × b̄) × (c̄ × d̄ ) = [ā¯̄̄¯bd]c̄ − [āb̄c̄]d̄

22. In 

Watch Video Solution

ΔABC, (r1 + r2)sec2 =
C

2

https://dl.doubtnut.com/l/_6Ml7o0ozuvT7
https://dl.doubtnut.com/l/_DPMSWyJXcTUj

